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AT
B k=8 |9n A% |pEE |mEdsmy [BEB |EE& A5 kM [EF [T |TRme |Ex |6
1| 4 NE 6 E 5 NE 6 ENE 2 E 3 E 3 NE 2 ENE 2 SW 4 NNE | 11 SSE 3 SE 2 NNE 3 E 4 ESE
2| 4 ENE 4E 3 SSE 2 SE 2 SE 3 E 2 NNE 2 WSW | 2 SSE 1N 8 SSE 3 SE 1 NNE 2 ENE 3 E
3| 4 ENE 2 SSW 3WNW|[ 4 WSW| 3 ENE 1 SSE 3 ENE 1 SSW 2 ESE 1 SSW 58S 4 SE 2 NW 2 E 3 E
4| 3 ENE 1 SwW 2 WSW | 3WSW| 4 NE 1 ENE 2 NNE 18 1 SSW 1TWSW| 4S8 3 SE 2 SSW 2 E 4 E
5/ 3 ENE 2 SSE 2 SW 3 NW 5E 3 SSE 2S 1 SSW 1 NNE 1TWNW| 58S 3 SSE 3 SE 1 ESE 3 ESE
6] 2E 2 WSW | 2 SSW 2 SSW 4E 2 ENE 1 NW 1E 3 SE 1TW 7 SSE 3 SSE 2 SE 2 ESE 4 E
7| 4 NE 1W 1 SwW 2 ENE 3 ENE 1 NE 1 WSW | 1 NNE 3 SE C 3S 3 ESE 4 NE 2 ESE 5E
g| 4 ENE 2 E 2 NW 3WSW| 4E 2 NE 4 N 2 NE 4 SSE 1 NNE 2 SSE 2 ESE 3 ENE 2 ESE 4 ESE
9| 5 NE 4E 1 NNE 2 NE 3 E 2S 3 WSW | 1 NNE 3 SE 1 NE 2 NNE 3 ESE 3 NE 2 ESE 4 E
10| 4 NE 7 ENE 3 ENE 2 ESE 4 NE 4E 2WNW|[ 1N 3 ESE 1 NE 2 NW 4 SE 2 E 3 ESE 4 ESE
11| 5 ENE 7 ENE 4 NE 3 E 4E 4 SE 3w 1 WNW | 3 SE 1 NNE 2N 18 18 2 ESE 5E
12| 4 ENE 4 ENE 1E 1 ENE 5E 5 NE 2 WSW | 2 ENE 3 SE 2 NNE 1 NNW | 4 ENE 3 ENE 2 ESE 4 E
13| 9 NE 5 ENE 3 NNE 2 ESE 4E 5 NE 5 NNW 1 NE 4 ESE 2 E 3 NW 3 ENE 6 NE 2 ESE 5E
14| 95 NE 6 ENE 1W 2 SSE 4E 1 NNE 3N 1 WSW 3 SE 1 ENE 3N 2 NNE 5 NE 1 ESE 5 ENE
15| 9 NE 4E 2 SSE 3 ENE 2 ENE 3 SSE 3 NNE 4 NE 2 ESE 1 NE 2 NNE 2N 4 NNW 1 NE 2 NNE
16
17
18
19
20
21
22
23
24
Ety| 4 4 2 3 4 3 3 1 3 1 4 3 3 2 4
2K 5 NE 7 ENE 5 NE 6 ENE 5E 5 NE 5 NNW 4 NE 4 SSE 4 NNE | 11 SSE 4 SE 6 NE 3 E 5E
FT R of% 108 18 18 58% 128% 1308 158F 8B 18 18 3% 1385 18 i




